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Chemistry 205 Report

Redox Titration
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Table 1. Preparation of Standard Na;C,04 Solution u A ko /L~ o
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Table 2. Standardization of KMnO,4 Solution
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Table 3. Analysis of Unknown Oxalate

Unknown #: 6’
Trial Buret upper Buret lower Volume of
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Table 4. Preparation of the Iron Unknown Solution
Unknown #: |2,

Part I1

Mass of bottle + cap + impure
FB(NHq)z(SOﬂZ-ﬁHzO
Mass of empty bottle + cap
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Mass of impure
FC(NHa)z(SOq)z.ﬁH;O
Volume of solution

Table 5. Titration of the Iron Unknown Sample with KMnO4 Solution

Trial Buret upper Buret lower Volume of
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Tonic equation:
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Calculations: (show your work) s = AN Hn ﬁ,,
2 . .
Number of moles of Fe™ (in titrated sample) =

- 8,67 mo“’mp

Number of moles of Fe(NH4)3(S04)2.6H,O (in the original sample) = mfe(pduu) (604, Au O}; o

Number of moles of Fe(NHg)2(S04):.6H,0 (in titrated sample) =

Mass of Fe(NHy)2(S04)2.6H,0 = ~ xH - .,? ¢9 )’hxgﬁ S O Q (-,:' xto- 3 ’W‘QP
e /.L / Y] 5 g.
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|. Give the oxidation number of the underlined atoms in the following species: @

a _204 =2 4"{( o?)_ 2 "°>C_..+3>
b. Mg 3(49)+ 2N=0 =HN=-3 ht
c. HiAsO3 3(41) s As 4 3(-2) = A¢ =3 ns‘q
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d. EO‘S- \M*'U{(”IZ)T -7 =>W =46
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e PICL™ P4 ¢ (A) -2 = Pk -

| = Pk =ay
f. S_bFﬁ- {:b -+ C ( = E‘} - 1 ::-:) SL’/ L o /

2. SO, present in air is mainly responsible for the acid rain phenomenon. Its
concentration can be determined by titrating against a standard permanganate
solution in acidic media as follows:

SO, + MnO; — Mn** + SO
a. Balance the above reaction, show your work.

b. Calculate the number of grams of SO, in a sample of air if 7.37 ml of 0.00800
M KMnO, solution are required for titration.
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